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SECONDARY SCHOOL EXAMINATION – 2021 (ANNUAL) 

Model Set 

ECONOMICS (Additional)

Time : 3 Hrs. 15 Minutes         Full Marks : 100 

Total number of questions : 100 + 30 + 8 = 138

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfgus vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper is divided into two sections : Section-A and 

Section-B. 

5-  esa 100 oLrqfu"B iz’u gSa] buesa ls fdUgha 50 iz’uksa dk mÙkj nsaA izR;sd 

iz’u ds fy, 1 vad fu/kkZfjr gSA lgh fodYi dks miyC/k djk;s x;s OMR&’khV 
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esa fn;s x;s lgh òÙk dks dkys@uhys ckWy isu ls vafdr djsaA 50   ls vf/kd 

iz’uksa dk mÙkj nsus dh fLFkfr esa izFke 50 iz’uksa dk gh ewY;kadu fd;k tk,xkA 

fdlh Hkh izdkj ds OgkbZVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk mŸkj izf=dk esa 

iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 100 objective type questions, each 

carrying 1 mark, out of which only 50 questions are to be 

answered. Darken the circle with black/blue ball pen against the 

correct option on OMR Sheet provided to you. If more than 50 

questions are answered, only first 50 will be evaluated. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be treated as invalid. 

6-  esa 30  gSa] ftuesa ls fdUgha 15 iz’uksa dk mŸkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA blds vfrfjDr bl [k.M 

esa 08   fn, x;s gSaA buesa ls fdUgha 4 iz’uksa dk mŸkj nsuk 

vfuok;Z gSA izR;sd ds fy, 05 vad fu/kkZfjr gSaA 

In Section-B, there are 30 short answer type questions, out of 

which any 15 questions are to be answered. Each question carries 

2 marks. Apart from this there are 8 long Answer Type 

questions, out of which any four questions are to be answered. 

Each question carries 5 marks. 

7- fdl izdkj ds bysDVªksfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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Section A

 Objective Type Question

iz’u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftlesa ,d lgh 

gSA vius }kjk pqus x, lgh fodYi dks OMR 'khV ij fpfUgr djsaA fdUgha 50 iz’uksa dk 

mÙkj nsaA          50 X 1 ¾ 50 

Questions No. 1 to 100 have four options, out of which only one is correct. 

You have to  mark, your selected option on the OMR-sheet. Answer any 50 

questions.            50 x 1 = 50 

1- izfr O;fDr vk; esa o`f) ls thou Lrj D;k gksrk gS \ 

A- fxjrk gS    B- Å¡pk gksrk gS   

C- vifjofrZr jgrk gS   D- buesa ls dksbZ ugha 

As a result of rise in per capita income, what happens to standard 

of living ? 

A. Declines    B. Rises 

C. Remains unchanged  D. None of these 

2- vk; vkSj miHkksx dk varj D;k dgykrk gS \ 

A- eqnzk     B- lk[k 

C- cpr     D- buesa ls dksbZ ugha 

What is the difference between income and consumption called ? 

A. Money    B. Credit 
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C. Saving    D. None of these 

3- ns’k dh yxHkx fdruh vkcknh d`f"k {ks= ls vkthfodk izkIr djrh gS \ 

A- vk/kh     B- ,d&frgkbZ 

C- nks&frgkbZ    D- rhu&pkSFkkbZ 

How much population of the country gets livelihood from 

agriculture ? 

A. Half     B. One-third 

C. Two-third    D. Three-fourth 

4- gfjr ØkfUr esa lfEefyr gSa & 

A- mUur cht    B- d`f"k ;U=hdj.k   

C- jklk;fud moZjd   D- buesa ls lHkh 

Green Revolution includes - 

A. HYV Seeds   B. Mechanisation of Agriculture 

C. Chemical Fertilizers  D. All of these 

5- Hkkjrh; fjtoZ cSad dk jk"Vªh;dj.k dc gqvk \ 

A- 1935     B- 1949 

C- 1950     D- 1954 

When was the Reserve Bank of India nationalized ? 

A. 1935     B- 1949 

C- 1950     D- 1954 

6- tc lexz ls pquh gqbZ bdkb;ksa dk v/;;u fd;k tkrk gS rks bls dgrs gSa & 
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A- O;kogkfjd vuqla/kku  B- fun’kZu vuqla/kku 

C- lax.kuk vuqla/kku   D- buesa ls dksbZ ugha 

When selected units of universe are studied, then it is called - 

A. Practical Investigation B. Sample Investigation 

C. Census Investigation  D. None of These 

7- vuqla/kkudrkZ }kjk Lo;a ladfyr fd;s x, vk¡dM+s dgykrs gSa & 

A- izkFkfed lead   B- f}rh;d lead 

C- (A) rFkk (B) nksuksa  D- buesa ls dksbZ ugha 

The data collected by the investigator is called - 

A. Primary data   B. Secondary data 

C. (A) and (B) both  D. None of these 

8- fuEufyf[kr esa ls dkSu vizR;{k dj gS \ 

A- mRikn 'kqYd   B- fcØh dj 

C- lhek 'kqYd    D- buesa ls lHkh 

Which of the following is an Indirect Tax ? 

A. Excise duty   B. Sales Tax 

C. Custom duty   D. All of these 

9- fuEukafdr esa fof/kxzká eqnzk dkSu lh gS \ 

A- uksV vkSj flDds   B- psd 

C- cSad Mªk¶V    D- gqaMh 
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Which of the following is a legal tender money ? 

A. Currency notes and coins B. Cheque 

C. Bank draft   D. Hundi 

10- Hkkjr dh izFke iapo"khZ; ;kstuk dk dky D;k Fkk \ 

A- 1950&1955    B- 1951&1956 

C- 1952&1957    D- 1954&59 

What was the period of India’s first five-year plan ? 

A. 1950&1955    B- 1951&1956 

C- 1952&1957    D- 1954&59 

11- Hkkjr dh jk"Vªh; vk; dk loZizFke vuqeku fdlus yxk;k Fkk \ 

A- egkRek xk¡/kh   B- tokgj yky usg:  

C- ljnkj iVsy   D- nknkHkkbZ ukSjksth 

Who was the first to estimate India’s National Income ? 

A. Mahatama Gandhi  B. Jawahar Lal Nehru 

C. Sardar Patel   D. Dadabhai Naoroji 

12- dsUnzh; lgdkjh cSad dk xBu gksrk gS & 

A- xzke Lrj ij   B- ftyk Lrj ij 

C- jkT; Lrj ij   D- jk"Vªh; Lrj ij 

Central cooperative bank is formed - 

A. At Village Level   B. At District Level 

C. At State Level   D. At National Level 
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13- lkoZtfud {ks= ds miØeksa ds fofuos’k dk vfHkizk; gS & 

A. ljdkj dh LokfeRo /kkfjrk esa deh ykuk   

B- ljdkj dh LokfeRo /kkfjrk esa o`f) djuk 

C. u;s {ks= esa fofu;ksx djuk     

D- buesa ls dksbZ ugha 

Disinvestment of Public sector undertakings means - 

A. Reducing government ownership 

B. Increasing government ownership 

C. To invest in new sector     

D. None of these. 

14- flaxy czkaM fjVsy {ks= esa Hkkjr ljdkj }kjk fdrus izfr’kr izR;{k fons’kh fuos’k 

¼FDI½ dh vuqefr nh xbZ gS \ 

A- 49%    B. 51% 

C. 74%    D. 100 % 

What percentage of FDI is allowed by Indian government in single 

brand retail sector ? 

A. 49%    B. 51% 
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C. 74%    D. 100 % 

15- fuEu esa ls dkSu ?kkVs ds ctV dks n’kkZrk gS \ 

A- izkfIr;k¡ ¾ O;;   B- izkfIr;k¡ < O;; 

C- izkfIr;k¡ > O;;   D- buesa dksbZ ugha 

Which of the following represents Deficit Budget ? 

A. Receipt = Expenditure B. Receipts < Expenditure 

C. Receipt > Expenditure D. None of these 

16- fuEu esa ls dkSu vk/kkfjr lajpuk dk mnkgj.k ugha gS \ 

A- lM+d     B- fctyh  

C- Ldwy&dkWyst    D- QSDVjh 

Which of the following is not an example of Infrastructure ? 

A. Road    B. Electricity 

C. School-College   D. Factory 

17- j{kk&lsok fdl izdkj dh lsok gS \ 

A- ljdkjh    B- v)Z&ljdkjh 

C- xSj&ljdkjh    D- buesa ls dksbZ ugha 

What kind of service is Defence Service ? 

A. Government   B. Semi-government 
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C. Non-Government  D. None of these 

18- fo’o ds ns’kksa dks] cktkjksa dh O;kikj] foÙkh; izokg ,oa fuos’k }kjk tksM+us dks 

D;k dgrs gSa \ 

A- futhdj.k    B- mnkjhdj.k 

C- oS’ohdj.k     D- buesa ls lHkh 

What is the integration of countries of world through trading in 

markets, financial flows and investment called ? 

A. Privatization   B. Liberalization 

C. Globalization   D. All of these 

19- {ks=h; xzkeh.k cSadks dh LFkkiuk fdl o"kZ gqbZ \ 

A- 1969     B- 1971 

C- 1975     D- 1980 

In which year Regional Rural Banks were Constituted ? 

A. 1969     B- 1971 

C- 1975     D- 1980 

20- mRiknu esa lfØ; ?kVd gSa & 

A- ekuo iw¡th    B- HkkSfrd iw¡th 

C- Hkwfe     D- buesa ls dksbZ ugha 

Active factor in production is - 
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A. Human Capital   B. Physical Capital 

C. Land    D. None of these 

21- eqnzk LQhfr dh fLFkfr esa oLrq dk ewY; & 

A- c<+rk gS    B- ?kVrk gS 

C- vizHkkfor jgrk gS   D- buesa ls lHkh  

During Inflation price of commodity - 

A. Increases    B. Decreases 

C. Remains unchanged  D. All of these 

22- xjhch gVkvks dk ukjk fdl iapo"khZ; ;kstuk esa fn;k x;k \ 

A- lkroha iapo"khZ; ;kstuk  B- rhljh iapo"khZ; ;kstuk 

C- NBha iapo"khZ; ;kstuk  D- ikapoh iapo"khZ; ;kstuk 

In which Five year Plan the slogan of Garibi Hatao was given ? 

A. 7th Five-year Plan  B. 3rd Five-year Plan 

C. 6th Five-year Plan  D. 5th Five-year Plan 

23- ek¡x dh yksp ekius dh dqy O;; fof/k dk izfriknu fdlus fd;k \ 

A- fgDl    B- ¶yDl 

C- ek’kZy    D- buesa ls dksbZ ugha 
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Who propounded the Total Expenditure Method of measuring 

Elasticity of Demand ? 

A. Hicks     B. Flux 

C. Marshall     D. None of these 

24- ek¡x dh dher yksp ls vfHkizk; gS & 

A- dher esa ifjorZu ds dkj.k ek¡x esa ifjorZu 

B- ek¡x esa ifjorZu 

C- dher esa ifjorZu 

D- okLrfod vk; esa ifjorZu 

Price Elasticity of demand means - 

A. Change in demand due to charge in Price 

B. Change in demand 

C. Change in Price 

D. Change in real income 

25- ekax esa dkSu lk rÙo gksuk vko’;d gS \  

A- oLrq dh bPNk   B- ,d fuf’pr ewY; 

C- lk/ku O;; djus dh rRijrk D- buesa ls lHkh  

Which element is essential for demand ? 
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A. Desire to Consume   B. A Given Price 

C. Willingness to Spend  D. All of these 

26- ewY; esa deh dk fxfQu oLrqvksa dh ekax ij D;k izHkko iM+rk gS \ 

A- ek¡x c<+ tkrh gSA   B- ek¡x ?kV tkrh gSA 

C- ek¡x fLFkj jgrh gSA  D- buesa ls dksbZ ughaA 

How does price reduction affect the demand of Giffin goods ? 

A. Demand increases  B. Demand decreases 

C. Demand remains constant D. None of these 

27- fuEu esa ls fdl vFkZO;oLFkk esa futh {ks= ,oa lkoZtfud {ks= dk lg&vfLrRo 

gksrk gS \ 

A- iww¡thoknh    B- lektoknh 

C- fefJr    D- buesa ls lHkh 

Which economy has a co-existence of Private and Public sectors? 

A. Capitalist    B. Socialist 

C. Mixed     D. All of these 

28- fdl vFkZO;oLFkk esa dher&rU= ds vk/kkj ij fu.kZ; fy, tkrs gSa \ 

A- lektoknh    B- iwathoknh 

C- fefJr     D- buesa ls dksbZ ugha 
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In which economy decisions are taken on the basis of Price-

mechanism ? 

A. Socialist    B. Capitalist 

C. Mixed    D. None of these 

29- f}rh;d {ks= esa fuEufyf[kr esa ls dkSu lh lsok lfEefyr gS \ 

A- chek     B- fofuekZ.k 

C- O;kikj    D- cSfdax 

Which one is included in Secondary sector ? 

A. Insurance    B. Manufacturing 

C. Trade    D. Banking 

30- jk"Vªh; vk; ds vkdyu esa fdlh oLrq ;k lsok dk ewY; ,d ls vf/kd ckj 

'kkfey djuk D;k dgykrk gS \ 

A- ,dy x.kuk    B- nksgjh x.kuk 

C- cgqy x.kuk    D- buesa ls dksbZ ugha 

Inclusion of the value of goods or services more than one time 

while calculating National income is called ? 

A. Single Counting   B. Double Counting 

C. Multiple Counting  D. None of these 
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31- Hkkjr esa xjhch js[kk dk fu/kkZj.k fdl lfefr ds lq>koksa ds vk/kkj ij fd;k x;k 

gS \ 

A- nÙk lfefr    B- pSys;k lfefr 

C- pØorhZ lfefr   D- rsanwydj lfefr 

On the basis of recommendation of which committee was poverty 

line estimated in India ? 

A. Dutt Committee   B. Chelliah Committee 

C. Chakravorty Committee D. Tendulkar Committee 

32- fdl ;kstuk dk mís’; xzkeh.k {ks= ds vk/kkjHkwr <k¡ps dk fuekZ.k djuk gS \ 

A- fefy;u osy ;kstuk  B- iz/kkuea=h xzkeksn; ;kstuk 

C- Hkkjr fuekZ.k ;kstuk  D- dke ds cnys vukt ;kstuk 

The objective of which scheme is to build rural infrastructure ? 

A. Million Wells Scheme   

B. Pradhan Mantri Gramodaya Yojana 

C. Bharat Nirman Yojana   

D. Kaam ke Badle Anaj Yojana 

33- d`f"k {ks= esa fdl izdkj dh csjkstxkjh ikbZ tkrh gS \ 

A- fNih csjkstxkjh   B- ekSleh csjkstxkjh 

C- (A) rFkk (B) nksuksa   D- buesa ls dksbZ ugha 

Which type of unemployment is found in agriculture sector ? 



15 
 

A. Disguised Unemployemnt B. Seasonal unemployment 

C. (A) and (B) both  D. All of these 

34- fczVsu ds dsUnzh; cSad ^cSad vkWQ baXySaM* dh LFkkiuk dc gqbZ \ 

A- 1668     B- 1694 

C- 1650     D- 1740 

When was the Central Bank of Britain known as ‘Bank of England’ 

established ? 

A. 1668     B- 1694 

C- 1650     D- 1740 

35- Hkkjrh; fjtoZ cSad dc cuk \ 

A- 1914     B- 1925 

C- 1930     D- 1935 

When was Reserve Bank of India formed ? 

A. 1914     B- 1925 

C- 1930     D- 1935 

36- Hkkjrh; fjtoZ cSad dk eq[;ky; dgk¡ gSa \ 

A- fnYyh    B- eqEcbZ  

C- psUubZ    D- dksydÙkk 

Where is the head quarter of Reserve Bank of India ? 

A. Delhi    B. Mumbai 
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C. Chennai    D. Kolkata 

37- ;wjksih; la?k dh eqnzk D;k gS \ 

A- MkWyj    B- ikmaM 

C- ;su      D- ;wjks 

What is the currency of European Union ? 

A. Dollar    B. Pound 

C. Yen     D. Euro 

38- nh?kZdkyhu _.k iznku djus okyh laLFkk dkSu lh gS \ 

A- Hkwfe fodkl cSad   B- izkFkfed d`f"k lk[k lfefr 

C- O;kikjh    D- buesa ls dksbZ ugha 

Which institution provides long term loan ? 

A. Land Development Bank  

B. Primary Agriculture Credit Society 

C. Trader 

D. None of these 

39- Hkkjr dh foÙkh; jkt/kkuh fdl 'kgj dks dgk tkrk gS \ 

A- eqEcbZ     B- fnYyh 

C- caxyq:    D- gSnjkckn 

Which is the financial capital of India ? 
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A. Mumbai    B. Delhi 

C. Bangaluru   D. Hyderabad 

40- ;fn f’k{kd vius cPps dks i<+krk gS rks jk"Vªh; vk; esa D;k gksxk \ 

A- òf) gksxh    B- deh vk,xh 

C- dksbZ ifjorZu ugha gksxk  D- buesa ls dksbZ ugha 

If a teacher teaches his own child, then what will happen to 

National income ? 

A. Increases    B. Decreases  

C. No change   D. None of these 

41- xSj&ijEijkxr ÅtkZ dk L=ksr D;k gS \  

A- lkSj ÅtkZ    B- iou ÅtkZ 

C- xkscj xSl    D- buesa ls lHkh 

Which is a non-conventional source of energy ? 

A. Solar energy   B. Wind energy 

C. Biogas    D. All of these 

42- gkWyekdZ fdldh xq.koÙkk dks izekf.kr djus okyk fpà gS \ 

A- vkHkw"k.k ¼lksus ds½   B- [kk| inkFkZ 

C- fctyh ds midj.k   D- buesa ls dksbZ ugha 

Whose quality is certified by the ‘Hallmark’ symbol ? 
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A. Jewellery (Gold)  B. Food items 

C. Electric appliances  D. None of these 

43- lkaf[;dh ls D;k vfHkizk; gS \ 

A- lead    B- lkaf[;dh; fof/k;k¡ 

C- ¼A) rFkk (B) nksuksa   D- buesa ls dksbZ ugha 

What does statistics imply ? 

A. Data    B. Statistical Methods 

C. (A) and (B) both  D. None of these 

44- 2011 dh tux.kuk ds vuqlkj Hkkjr esa izfr 1000 iq#"kksa ij efgykvksa dh la[;k 

fdruh gS \ 

A- 927     B- 933 

C- 940     D- 943 

According to 2011 census, what is the number of females per 

1000 male in India ? 

A. 927     B- 933 

C- 940     D- 943 

45- Xjhch ds nq’pØ dh /kkj.kk fdlus nh \ 

A- izks0 ihxw    B- VªsLdkWV 

C- ØkmFkj    D- jSxuj uDlZ 

Who gave the concept of Vicious Circle of Poverty ? 
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A. Prof. Pigou   B. Trescott 

C. Crowther    D. Ragnar Nurkse 

46- jk"Vªh; vk; ds larqyu ds QkewZys esa Y = C + I esa C ls D;k vk’k; gS \ 

A- fuos’k O;;    B- mRiknu O;; 

C- miHkksx O;;    D- jk"Vªh; vk; 

In the formula for equilibrium of National Income Y = C + I, What is 

C ? 

A. Investment Expenditure B. Production Expenditure 

C. Consumption Expenditure D. National Income 

47- dsUnzh; lkaf[;dh; laxBu dk xBu dc gqvk \ 

A- 1950     B- 1952 

C- 1954     D- 1960 

When was Central Statistical Organisation established ? 

A. 1950     B- 1952 

C- 1954     D- 1960 

48- ns’k dh igyh jk"Vªh; ekuo fodkl fjiksVZ fdl iz/kkuea=h ds dk;Zdky esa tkjh 

dh xbZ \ 

A- bafnjk xka/kh     B- ih0 oh0 ujflEgk jko 

C- vVy fcgkjh oktis;h   D- MkW0 eueksgu flag 
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The country’s first National Human Development Report was 

released during the tenure of which Prime Minister ? 

A. Indira Gandhi   B. P. V. Narasimha Rao 

C. Atal Bihari Vajpayee  D. Dr. Man Mohan Singh 

49- Hkkjr ds dsUnzh; cSad dk uke D;k gS \ 

A- lsUVªy cSad vkWQ bf.M;k  B- QsMjy fjtoZ 

C- cSad vkWQ bf.M;k   D- Hkkjrh; fjtoZ cSad 

What is the name of Central Bank of India ? 

A. Central Bank of India  B. Federal Bank 

C. Bank of India   D. Reserve Bank of India 

50- EXIM cSad dh LFkkiuk D;ksa gqbZ \ 

A- d`f"k foÙk ds fy,   B- vk;kr&fu;kZr lao)Zu ds fy, 

C- vkS|ksfxd foÙk ds fy,  D- NksVs ,oa lhekUr fdlkuksa ds fy, 

Why was EXIM Bank established ? 

A. For Agriculture finance B. For promoting Import and Export 

C. For Industrial finance  D. For Small and marginal farmers 

51- EXIM cSad dk eq[;ky; dgk¡ gS \ 

A- eqEcbZ     B- fnYyh 
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C- psUubZ    D- gSnjkckn 

Where is the head quarter of EXIM Bank ? 

A. Mumbai    B. Delhi 

C. Chennai    D. Hyderabad 

52- ekSfnzd uhfr dk laca/k fuEu esa ls fdlls gS \  

A- lkoZtfud O;;   B- dj 

C- lkoZtfud _.k   D- cSad nj 

Which of the following is related with Monetary Policy ? 

A. Public Expenditure  B. Tax 

C. Public Debt   D. Bank Rate 

53- eqnzk iwfrZ dk fu;eu dkSu djrk gS \ 

A- Hkkjr ljdkj   B- Hkkjrh; fjtoZ cSad 

C- okf.kfT;d cSad   D- ;kstuk vk;ksx 

Who regulates money supply ? 

A. Government of India  B. Reserve Bank of India 

C. Commercial Bank  D. Planning Commission 

54- ljdkj ds dj jktLo ds vUrxZr fuEufyf[kr esa dkSu 'kkfey gS \ 

A- vk; dj    B- fuxe dj 
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C- lhek 'kqYd    D- buesa ls lHkh 

Which of the following is included in tax revenue of the 

government ? 

A. Income Tax   B. Corporate Tax 

C. Excise duty   D. All of these 

55- fdl izdkj dh csjkstxkjh esa Jfedksa dh lhekUr mRikndrk 'kwU; gksrh gS \ 

A- fNih csjkstxkjh   B- ekSleh csjkstxkjh 

C- lajpukRed csjkstxkjh  D- ?k"kZ.kkRed csjkstxkjh 

In which type of unemployment is the Marginal Productivity of the 

workers zero ? 

A. Disguised unemployment B. Seasonal unemployment 

C. Structural unemployment D. Frictional unemployment 

56- Hkkjr esa lokZf/kd jkstxkj miyC/k djkus okyk {ks= dkSu lk gS \ 

A- izkFkfed {ks=   B- f}rh;d {ks= 

C- r`rh;d {ks=    D- fofuekZ.k {ks= 

Which sector provides maximum employment in India ? 

A. Primary Sector   B. Secondary Sector 

C. Tertiary Sector   D. Manufacturing Sector 

57- Lo.kZ t;Urh xzke Lojkstxkj ;kstuk dk 'kqHkkjaHk dc gqvk \ 



23 
 

A- 1 vizSy 1991   B- 1 vizSy 1995 

C- 1 vizSy 1999   D- 1 vizSy 2005 

When was The Swarna Jayanti Gram Swarojgar Yojana started ? 

A. 1st April 1991   B. 1st April 1995 

C. 1st April 1999   D. 1st April 2005 

58- ujsxk ¼NREGA½ dk uke cnydj eujsxk ¼MGNREGA½ dc fd;k x;k \ 

A- 2 vDVwcj 2008   B- 2 vDVwcj 2009 

C- 2 vDVwcj 2010   D- 2 vDVwcj 2014 

When was the name NREGA changed to MGNREGA ? 

A. 2nd October 2008  B. 2nd October 2009 

C. 2nd October 2010  D. 2nd October 2014 

59- Hkkjr esa fdl lwpdkad ds }kjk eqnzk LQhfr dh eki dh tkrh gS \ 

A- Fkksd ewY; lwpdkad   B- miHkksDrk ewY; lwpdkad 

C- ¼A½ vkSj ¼B½ nksuksa   D- buesa ls dksbZ ugha 

Which index is used to measure inflation in India ? 

A. Wholesale Price Index B. Consumer Price Index 

C. (A) and (B) both  D. None of these 

60- vk/kkj o"kZ esa lwpdkad dk ewY; D;k gksrk gS \ 



24 
 

A- 1     B- 0 

C- 100     D- 110 

What is the value of Index in base year ? 

A. 1     B- 0 

C- 100     D- 110 

61- fuEu esa ls dkSu ekuo iwath dk ?kVd ugha gS \ 

A- oL=     B- f’k{kk 

C- LokLF;    D- mtkZ 

Which of the following is not a component of human capital ? 

A. Clothing    B. Education 

C. Health    D. Energy 

62- Vªkalijsalh baVjus’kuy fdu ns’kksa dh lwph tkjh djrk gS \ 

A- fodflr ns’kksa dh   B- fodkl’khy ns’kksa dh 

C- Hkz"V ns’kksa dh   D- buesa ls dksbZ ugha 

The list of which countries is issued by Transparency 

International? 

A. Developed countries  B. Developing countries 

C. Corrupt countries  D. None of these 

63- ek¡x dk fu;e fuEu esa ls fdu oLrqvksa ij ykxw ugha gksrk gS \ 
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A- cgqewY; vkSj izfr"Bk lwpd oLrq,¡ 

B- vfuok;Z oLrq,¡ 

C- fxfQu oLrq,¡     

D- buesa ls lHkh 

In case of which of the following  goods the law of demand does 

not apply ? 

A. Precious and Prestigious goods 

B. Necessary goods 

C. Giffin goods 

D. All of these 

64- tc ek¡x iw.kZr% ykspnkj gksrh gS] rc ekax dh dher yksp D;k gksxh \ 

A- Ed =     B. Ed = 0 

C. Ed = 1    D. Ed > 1 

What will be the price elasticity of demand, when the demand is  

perfectly elastic ? 

A. Ed =     B. Ed = 0 

C. Ed = 1    D. Ed > 1 

65- ckaxykns’k dh djsalh D;k gS \ 

A- #i;k    B- Vdk 

C- Øksuk     D- fnukj 

What is the currency of Bangladesh ? 
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A. Rupee    B. Taka 

C. Krona    D. Dinar 

66- turk dk cSad dkSu lk gS \ 

A- O;kikfjd cSad   B- dsUnzh; cSad 

C- fjtoZ cSad vkWQ bafM;k  D- buesa ls dksbZ ugha 

Which is the bank for Public ? 

A. Commercial Bank  B. Central Bank 

C. Reserve Bank of India D. None of these 

67- uhfr vk;ksx dk xBu dc gqvk \ 

A- 1 tuojh 2013   B- 1 tuojh 2014 

C- 1 tuojh 2015   D- 1 tuojh 2016 

When was NITI Aayog constituted ? 

A. 1st January 2013  B. 1st January 2014 

C. 1st January 2015  D. 1st January 2016 

68- jk"Vªh; fodkl ifj"kn~ dk insu v/;{k dkSu gksrk gS \ 

A- eq[; ea=h    B- foÙk ea=h 

C- jk"Vªifr    D- iz/kku ea=h 

Who is the ex-officio chairman of National Development Council ? 
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A. Chief Minister   B. Finance Minister 

C. President    D. Prime Minister 

69- mnkjoknh vkS|ksfxd uhfr dc ?kksf"kr dh xbZ \ 

A- 1980     B- 1985 

C- 1990     D- 1991 

When was Liberalised Industrial Policy announced ? 

A. 1980     B- 1985 

C- 1990     D- 1991 

70- Hkkjrh; Mkd foHkkx lkoZtfud miØe ds fdl Lo:Ik dk mnkgj.k gS \ 

A- foHkkxh; miØe   B- oS/kkfud@lkoZtfud fuxe 

C- ljdkjh daiuh   D- buesa ls dksbZ ugha 

The Indian Postal Department is an example of which form of 

public enterprise ? 

A. Departmental undertaking B. Public corporation 

C. Government Companies D. None of these 

71- tula[;k c<+us ls Hkkjr esa D;k ifj.kke gqvk\ 

A- Hkwfe ij tula[;k dk Hkkj c<+k gSA 

B- csjkstxkjh c<+h gSA 

C- xjhch dh leL;k cuh gqbZ gSA 
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D- buesa ls lHkh 

What are the consequences of rising population in India ? 

A. The burden of population on land has increased 

B. Unemployment has increased 

C. The problem of Poverty is existing 

D. All of these 

72- miHkksDrk vf/kdkj fnol dc euk;k tkrk gS \ 

A- 17 ekpZ     B- 15 ekpZ 

C- 19 vizSy    D- 22 vizSy 

When is Consumer Right Day celebrated in India ? 

A. 17th March   B. 15th March 

C. 19th April    D. 22nd April 

73- HDI esa D dk vfHkizk; D;k gS \ 

A- fodkl    B- fu.kZ; 

C- ?kjsyw     D- buesa ls dksbZ ugha 

In HDI the letter D stands for -  

A. Development   B. Decision 

C. Domestic    D. None of these 
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74- fuEukafdr esa dkSu cgqjk"Vªh; daiuh gS \ 

A- QksMZ eksVlZ    B- dksdk&dksyk 

C- uksdh;k    D- buesa ls lHkh 

Which of the following is a Multinational company ? 

A. Ford Motors   B. Coca-Cola 

C. Nokia    D. All of these 

75- tux.kuk 2011 ds vuqlkj fcgkj esa izfr ,d oxZ fdyksehVj esa fdrus O;fDr 

jgrs gSa \ 

A- 940     B- 1028 

C- 1102     D- 1204 

According to Census 2011, how many people live per one square 

kilometer in Bihar ? 

A. 940     B- 1028 

C- 1102     D- 1204 

76- Hkkjr esa jk"Vªh; tula[;k uhfr dc ykxw gqbZ \ 

A- 15 Qjojh 2000   B- 1 vizSy 2002 

C- 1 tuojh 2005   D- 1 tqykbZ 2010 

When did National Population Policy come into force in India ? 

A. 15th February 2000  B. 1st April 2002 
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C. 1st January 2005  D. 1st July 2010 

77- jk"Vªh; tula[;k uhfr dk nh?kZdkyhu mís’; D;k gS \ 

A- tuu {kerk nj dks izfrLFkkiu nj rd ykuk 

B- LokLF; vk/kkfjr lajpuk dk fuekZ.k 

C- LokLF; deZpkfj;ksa dks ykHk 

D- 2045 rd fLFkj tula[;k dk y{; izkIr djuk 

What is the long term objective of National Population Policy ? 

A. To bring the total fertility rate to replacement level    

B. To build health infrastructure 

C. Benefits to health workers 

D. To achieve a stable population by 2045 

78- buesa ls dkSu eqnzk LQhfr fu;a=.k dk ekSfnzd mik; gS \ 

A- udn dks"k vuqikr esa o`f)  B- vk;kr esa òf) 

C- fu;kZr ij izfrca/k   D- lkoZtfud O;; esa deh 

Which of these is a monetary measure to control inflation ? 

A. Increase in Cash Reserve Ratio 

B. Increase in Imports 

C. Export Restriction 
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D. Decrease in Public Expenditure 

79- ,d vFkZO;oLFkk ds fdl {ks= dks lsok {ks= dgk tkrk gS \ 

A- izkFkfed {ks=   B- f}rh;d {ks= 

C- r`rh;d {ks=    D- buesa ls dksbZ ugha 

Which sector of economy is also known as Service sector ? 

A. Primary Sector   B. Secondary Sector 

C. Tertiary Sector   D. None of these 

80- buesa ls D;k O;kolkf;d cSad dk dk;Z ugha gS \ 

A- i= eqnzk tkjh djuk  B- tek Lohdkj djuk 

C- _.k nsuk    D- lk[k fuekZ.k 

Which of the following is not the function of the Commercial Bank? 

A. Issue of paper notes  B. Acceptance of deposits 

C. Advancing loans  D. Credit creation 

81- Hkkjr esa ljdkj dk okf"kZd vke ctV dkSu izLrqr djrk gS \ 

A- iz/kkuea=h    B- jk"Vªifr 

C- dsfcusV lfpo   D- foÙk ea=h 

Who presents the Union Budget of India ? 

A. Prime Minister   B. President 
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C. Cabinet Secretary  D. Finance Minister 

82- ;kstuk vk;ksx ds izFke v/;{k dkSu Fks \ 

A- ljnkj iVsy   B- MkW0 jktsUnz izlkn 

C- tokgj yky usg:   D- bfUnjk xk¡/kh 

Who was the first chairman of Planning Commission ? 

A. Sardar Patel   B. Dr. Rajendra Prasad 

C. Jawahar Lal Nehru  D. Indira Gandhi 

83- izfr oxZ fdyksehVj {ks= esa jgus okys euq";ksa dh la[;k dgykrh gS \ 

A- tula[;k o`f) nj   B- tula[;k ?kuRo 

C- fyaxkuqikr    D- buesa ls dksbZ ugha 

What is the number of persons living per square kilometer called ? 

A. Growth rate of population B. Density of population 

C. Sex-Ratio    D. None of these 

84- buesa ls dkSu Hkkjr dh uxnh Qly gS \ 

A- twV     B- rackdw 

C- dikl    D- buesa ls dksbZ ugha 

Which of the following is Cash-Crop of India ? 

A. Jute     B. Tobacco 
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C. Cotton    D. All of these 

85- vFkZO;oLFkk ds fiNM+siu ds dkj.k jkstxkj ds de voljksa }kjk O;kIr csjkstxkjh 

dks D;k dgrs gS \ 

A- fNih csjkstxkjh   B- lajpukRed csjkstxkjh 

C- ?k"kZ.kkRed csjkstxkjh  D- ekSleh csjkstxkjh 

Due to backwardness of an economy, unemployment caused by 

less availability of sufficient number of jobs is known as - 

A. Disguised unemployment B. Structural unemployment 

C. Frictional unemployment D. Seasonal unemployment 

86- dj lq/kkj ds fy, xfBr lfefr buesa ls dkSu gS \ 

A- jktk psyS;k lfefr   B- rsanqydj lfefr 

C- oekZ lfefr    D- ujflEgu lfefr 

Which of these is a Tax Reform Committee ? 

A. Raja Chelliah Committee B. Tendulkar Committee 

C. Verma Committee  D. Narasimham Committee 

87- ewY; rFkk ykxr dk varj D;k dgykrk gS \ 

A- ykHk     B- gkfu 

C- fuos’k    D- cpr 

What is the difference between Price and Cost called ? 
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A. Profit    B. Loss 

C. Investment   D. Saving 

88- fdlh oLrq dh dher rFkk iwfrZ esa dSlk laca/k gksrk gS \ 

A- _.kkRed    B- foijhr 

C- vuqikfrd    D- /kukRed 

What is the relation between Price and Supply of a commodity ? 

A. Negative    B. Inverse 

C. Proportionate   D. Positive 

89- Hkkjrh; eqnzk ds izrhd fpUg dh jpuk fdlus dh \ 

A- j?kqjke jktu   B- v’kksd dqekj 

C- Mh0 vHk; nkl   D- Mh0 mn; dqekj 

Who designed the symbol for Indian Currency? 

A. Raghuram Rajan  B. Ashok Kumar 

C. Dr. Abhay Das   D. D. Udaya Kumar 

90- buesa ls dkSu fons’kh cSad gS \ 

A- ICICI cSad    B- HDFC cSad 

C- HSBC cSad   D- nsuk cSad 

Which of these is a Foreign Bank ? 
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A. ICICI Bank   B. HDFC Bank 

C. HSBC Bank   D. Dena Bank 

91- ,d :I;s ds uksV ij fdldk gLrk{kj gksrk gS \ 

A- fjtoZ cSad ds xoZuj  B- foÙk ea=h 

C- foÙk lfpo    D- iz/kkuea=h 

Whose signature is there on one repee note ? 

A. Governor of RBI  B. Finance Minister 

C. Finance Secretary  D. Prime Minister 

92- Hkkjr dk lokZf/kd lk{kjrk okyk jkT; dkSu gS \ 

A- fcgkj    B- egkjk"Vª 

C- dsjy     D- dukZVd 

Which state has the highest literacy rate in India ? 

A. Bihar    B. Maharashtra 

C. Kerala    D. Karnataka 

93- lehdj.k I = ΔK esa ΔK dk D;k vfHkizk; gS \ 

A- fuos’k    B- iw¡th dk LVkWd 

C- iw¡th LVkWd esa ifjorZu  D- buesa ls dksbZ ugha 

What is ΔK in the equation  I = ΔK ? 

A. Investment    



36 
 

B. Stock of Capital 

C. Change in the stock of capital 

D. None of these 

94- vkfFkZd fodkl lacaf/kr gS & 

A- ifjek.kkRed ifjorZu ls  B- xq.kkRed ifjorZu ls  

C- (A) rFkk (B) nksuksa  D- buesa ls dksbZ ugha 

Economic development is related with - 

A. Quantitative Change  B. Qualitative Change 

C. (A) and (B) both  D. None of these 

95- ujsxk dh 'kq:vkr fdl jkT; ls gqbZ \ 

A- jktLFkku    B- fcgkj 

C- xqtjkr    D- vkU/kz izns’k 

In which state NREGA program started ? 

A. Rajasthan    B. Bihar 

C. Gujarat    D. Andhra Pradesh 

96- Hkwfe fodkl cSad dks igys fdl uke ls tkuk tkrk Fkk \ 

A- Hkwfe ca/kd cSad   B- {ks=h; xzkeh.k cSad 

C- lgdkjh cSad   D- izkFkfed d`f"k lgdkjh lfefr 

What was the Land Development Bank formerly known as ? 
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A. Land Mortgage Bank   

B. Regional Rural Bank 

C. Co-operative Bank 

D. Primary Agriculture Cooperation Committee 

97- buesa ls fdl [kkrs esa C;kt dh nj vf/kd gksrh gS \ 

A- pkyw [kkrk    B- cpr [kkrk 

C- lkof/k [kkrk   D- buesa ls dksbZ ugha 

Which of these accounts has the highest rate of interest ? 

A. Current Account  B. Saving Account 

C. Fixed Deposit   D. None of these 

98- Hkkjrh; fjtoZ cSad ds orZeku xoZuj dk D;k uke gS \ 

A- mftZr iVsy    B- j?kqjke jktu 

C- 'kfDrdkUr nkl   D- MkW0 eu eksgu flag 

Who is the current governor of Reserve Bank of India ? 

A. Urjit Patel    B. Raghuram Rajan 

C. Shaktikant Das   D. Dr. Man Mohan Singh 

99- O;kikfjd cSad dk izkFkfed dk;Z fuEu esa ls dkSu&lk gS \ 

A- tek,¡ Lohdkj djuk  B- _.k nsuk 
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C- lk[k fuekZ.k    D- buesa ls lHkh 

What is the Primary function of Commercial Bank ? 

A. Accepting Deposits  B. Advancing loans 

C. Credit Creation   D. All of these 

100- lkaf[;dh ds tUenkrk dkSu gSa \ 

A- ek’kZy    B- ckWmys 

C- xkWVÝkbM vkdsuoky  D- ØkmFkj 

Who is the father of Statistics ? 

A. Marshall    B. Bowley 

C. Gottfried Achenwall  D. Crowther 

Section-B  

Short Answer Type Questions 

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; iz’u gSaA fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question no. 1 to 30 are Short Answer Type questions. Answer any 15 

questions. Each question carries 2 marks.    (15x2=30) 

1- lkaf[;dh dh dksbZ nks fo’ks"krk,¡ crkb,A 

Write any two characteristics of Statistics ?  
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2- eqnzk ls vki D;k le>rs gSa \ 

What do you mean by Money ? 

3- fNih csjkstxkjh D;k gS \  

What is disguised unemployment ? 

4- eqnzk LQhfr dks ifjHkkf"kr djsaA 

Define Inflation. 

5- tula[;k ?kuRo ls vki D;k le>rs gSa \ 

What do you understand by density of population ? 

6- mnkjhdj.k dk D;k vfHkizk; gS \ 

What does Liberalization mean ? 

7- cgqjk"Vªh; daiuh dks ifjHkkf"kr djsaA 

Define Multi-national company. 

8- fcgkj ds fiNM+siu ds nks dkj.k crkb,A 

Write two causes of the backwardness of Bihar. 

9- vFkZO;oLFkk ls vki D;k le>rs gSa \ 

What do you mean by economy ? 

10- miHkksDrk 'kks"k.k ds nks mnkgj.k crk,aA 

Give two examples of consumer exploitation. 

11- izR;{k fons’kh fuos’k ls vki D;k le>rs gSa \ 

What do you understand by Foreign Direct Investment ? 

12- Lo;a lgk;rk lewgksa ls fu/kZu ifjokjksa dks D;k ykHk gqvk gS \ 
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How do self help groups help the poor families ? 

13- foÙkh; laLFkkvksa dk eq[; dk;Z D;k gS \ 

What is the major function of Financial Institutions ? 

14- izR;{k dj vkSj vizR;{k dj esa D;k varj gS \ 

What is the difference between Direct tax and Indirect tax ? 

15- lektoknh vFkZO;oLFkk dks ifjHkkf"kr djsaA  

Define Socialist economy. 

16- ctV D;k gS \ 

What is Budget ? 

17- lkoZtfud m|eksa ds fofHkUu :Ik dkSu ls gSa \ 

What are different kinds of Public enterprises ? 

18- vkfFkZd fu;kstu ds pkj rÙoksa dks crkb,A  

Write four elements of Economic Planning ? 

19- ldy ?kjsyw mRikn ls vki D;k le>rs gSa \ 

What do you mean by Gross Domestic Product ? 

20- Hkkjr esa d`f"k lk[k ds eq[; lk/ku dkSu&ls gSa \  

What are the major sources of agriculture credit in India ? 

21- ns'k esa fu;kZr lEc)zZu dh vko’;drk D;ksa gS \ 

Why there is the need for Export Promotion in India ? 

22- lkis{k xjhch dk D;k vFkZ gS \ 

What is the meaning of Relative Poverty ? 
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23- ekuo fodkl lwpdkad D;k gS \ 

What is Human Development Index (HDI) ? 

24- csjkstxkjh ds vkfFkZd nq"ifj.kke D;k gSa \ 

What are the economic ill effects of unemployment ? 

25- larqfyr ctV dh ifjHkk"kk nsaA 

Define Balanced Budget. 

26- izfr O;fDr vk; D;k gS \ 

What is Per Capita Income ? 

27- vFkZO;oLFkk ds {ks=ksa dks ifjHkkf"kr djsaA  

Define the Sectors of economy. 

28- izkFkfed lead D;k gS \  

What is Primary data ? 

29- Hkkjr esa fczfV’k 'kklu ds nks dqizHkkoksa dks fy[ksaA  

Write two ill effects of British rule in India. 

30- fcgkj esa xjhch ds nks dkj.k crk,aA  

Write two causes of Poverty in Bihar. 

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 5 vad fu/kkZfjr gSaA        (5x4=20) 

Question no. 31 to 38 are Long Answer Type Questions. Answer any 4 

questions. Each question carries 5 marks.    (5x4=20) 

31- Hkkjr esa vkfFkZd fu;kstu dh miyfc/k;ksa dk o.kZu djsaA 
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Explain the achievements of Economic Planning in India. 

32- Hkkjrh; vFkZO;oLFkk esa d`f"k ds egÙo dh O;k[;k dhft,A 

Discuss the importance of Agriculture in Indian economy. 

33- csjkstxkjh lek/kku ds fy, ljdkj us dkSu ls dne mBk, gSa \ 

What steps government has taken to solve the Problem of 

unemployment ? 

34- fdlh oLrq dh ek¡x dh yksp ekius dh dqy O;; fof/k Li"V dhft,A 

Explain the total expenditure method of measuring price elasticity 

of demand of a commodity. 

35- dsUnzh; cSad ds izeq[k dk;ksZa dk mYys[k dhft,A 

State the main functions of a Central Bank. 

36- ^^eqnzk ,d vPNk lsod gS] fdUrq cqjk Lokeh gSA** Li"V dhft,A 

“Money is a good servant, but a bad master.” Explain. 

37- Hkkjr dh jk"Vªh; tula[;k uhfr dk la{ksi esa o.kZu djsaA 

Explain in brief, the National Population Policy of India. 

38- Ekk¡x dk fu;e fp= dh lgk;rk ls le>kb,A 

Explain Law of demand with the help of diagram. 


